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b.  In the lattice  of magnesium bromide, the ratio of magnesium ions to bromide ions is 1:2 
               
i  Explain the term ‘lattice’
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

ii Explain why the ratio of ions is 1:2 
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

iii Why are metals malleable?
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________																																							[3]
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